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              Feza Boys' Secondary School


PHYSICS MIDTERM TEST

FORM II

Time: 2 hours.


Acceleration due to gravity g = 10N/kg


Density of water = 1gkm3 or 1000kg/m3
SECTION A (20 marks)

Answer all questions by filling the box provided.

1. [image: image3.png]


(i) The shortest length that can be measured with vernier calipers is:

(a) 0.1mm
(b) 1mm

(c) 0.01mm
(d) 0.0001 mm

(i) The meniscus of water in a glass curves downward because:

(a) [image: image4.bmp]The cohesion of molecules of water is stronger than the adhesion of molecules of glass and water.

(b) The adhesion of molecules of water is stronger than the cohesion of molecules of water.

(c) Water experiences a downward force equal to its weight.

(d) Water is denser than glass.

(iii) The minimum pressure exerted by a rectangular box of 1kg measuring 2m x 2m x5m on the bench is:

(a) 0.5 N/m2   
(b) 1 N/m2
(c) 2 N/m2

(d) 2.5 N/m2
(iv) The normal body temperature of human being is:

(a) 13.80F

(b) 66.40F

(c) 98.40F

(d) 380F

(v) The image formed by a plane mirror is always:

(a) Smaller than the object
(b) Victual

(c) Real
(d) Larger than the object

(vi) The process of removing magnetism is called:

(a) Magnetisation        (b) Induction method

(c) Demagnatisation     (d) Electrification

(vii) A body which gain excess electrons becomes:

(a) Negatively charged

(b) Positively charged

(c) Electrified.

(d) Both A and B

(viii) A potential difference of 24 volts is applied across a resistor of resistance 12 ohms. The current flowing in the circuit is:

(a) 0.5A   
(b) 2.0A


(c) 2.0A

(d) 2.5A

(ix) The efficiency of machine is defined as:



[image: image5.bmp]
(x) For a rigid body, the point where the resultant force appears to act is known as:

(a) Neutral point
(b) Balancing point

(c) Center of gravity      (d) Center position of a body

(xi) For a rigid body, the point where the resultant weight of the body appears to act is known as:

(a) Neutral point
(b) Balancing point

(c) center of gravity
(d) center position of a body

(xii) Amount of work a person can do in one second is his:

(a) Power
(b) Energy
(c) Strength

(d) Work.

(xiii) A material which allow some part of light to pass through if but one cannot see through is it said to be:

(a) Transparent
(b) Translucent 

(c) Opaque

(d) Luminous

(xiv) A freely suspended magnet always comes to rest:

(a) with either the N-pole or the S-pole pointing north.

(b) In a East – West direction.

(c) with its S-pole pointing North and N-pole pointing south.

(d) with its N-pole pointing North and S-pole pointing south. 
(xv) The leaves of a positively charged electroscope diverged when a charged body was brought near it, therefore the body have been:

(a) Positively charge   (b) Negatively charge

(c) A good conductor  (d) A piece of metal.

(xvi) A racing car can take a turn safer than a tall bus because:

(a) The bus has larger base area

(b) Bus is heavier.

(c) The car has low center of gravity.

(d) The car has more powerful engine.

(xvii) A car of 1 weight 12000N is moving with velocity of 2m/s. The kinetic energy is possesses is:

(a) 1200 joule
(b) 2400 joule

(c) 12000 joule
(d) 24000 joule.

(xviii) A force of 30N is used to move a block through a distance of 2m in one minute. The work done by the force is:

(a) 1 joule

(b) 60 joule

(c) 1 watt

(d) 60 watt

(xix) A certain machine is designed in such a way that a force of 75N is used to lift a load of 300N. Calculate its M.A.

(a) 4.00

(b) 0.40




(c) 0.04

(d) 0.25

(xx) If the effort is between load and the fulcrum then this lever is said to be:

(a) First class lever



(b) Second class lever

(c) Third class lever.

(d) None of above.

SECTION B (40 marks)

2. Match the following items by writing the letter of correct meaning from the list B. (each 1 mark)

	LIST A
	LIST B

	(i) Rate at which energy is consumed.

(ii) Electrophorous.

(iii) Voltmeter.

(iv) Alcohol.

(v) Motor.

(vi) Neutral point.

(vii) Aneroid barometer
	(a) Charge detector.

(b) Produce electric charges.

(c) Thermometric liquid for measuring high temperatures.

(d) Power.

(e) Measures amount of electric charges.

(f) Connected parallel to the resistor.

(g) Connected in series to the resistor.

(h) Thermometric liquid for measuring low temperatures.

(i) Converts electrical energy into mechanical energy.

(j) A point in magnetic field where resultant force is zero.

(k) A partially evacuated cylindrical box.

(l) A leather bag containing mercury.

(m) Converts mechanical energy into electrical energy.



Fill in the blanks: (each 3/2 marks)

3. (a) A flying plane has two types of energy:

a. ……………………………………………………. (ii) ………………………………………………

(b) The fundamental law of electrostatic charges states:

i) …………………………………………………

ii) ………………………………………………….

(c) Substances which allow electricity to pass through them are called ……………………………… while those which do not allow flow of electricity are called. …………………………………………………

4. (a) Potential difference defined as. ……………………………………………………………………… while electromotive force is ………………………………………………………………………………………..

(b) Two conditions to increase stability are:


    (i) ………………………………………………….
(ii) ………………...…………………………


(c) Center of gravity of an object is …………………………………………………………………………


…………….………………………………………………………………………………………………………….. 

5. (a) Surface tension is …………………………………………………………………………. and it is due to attraction force among surface molecules which is in short  due to ………………………………………….. force among surface molecules.

(b) Draw the following electrical symbols.


(i) Cell

(ii) resistor
(iii) lamp
(iv) switch
(v) rehostoid

SECTION C (40 marks)

6. (a) Differentiate between apparent weight and real weight of an object as applied in Physics.

(b) A solid weighs 64N in air and 48N when totally immersed in a liquid of density 0.8 g/cm3. Calculate:

(i) The weight of the liquid.

(ii) The volume of the solid.

(iii) The density of the solid.

7. (a) Define Kinetic energy and potential energy of an object and give one example of each.

(b) State principle of conservation of energy.

(c) A stone of mass 2kg is released from a tower of 80m height, Calculate:

(i) Maximum potential energy of the stone.

(ii) Speed of the stone when it hits the ground.

(iii) Speed of the stone when it is 60m above the ground.

8. (a) (i) State principle of moments.

(ii) Mention two conditions for an object to be in equilibrium.

(c) A uniform ruler whose length is 1m is balanced in a horizontal position as shown in the figure below. Calculate the mass of the ruler.


(d) Why it is easier to undo a tight not with longer spanner.

9. (a) A voltmeter connected across on electric appliance reads 3 volts and ammeter in series with it reads 0.75

           amperes.

(i) Draw the circuit diagram to represent above information.

(ii) Calculate the resistance of the appliance.

(b) An electric circuit has 2 two resistors of 4 ohms and 8 ohms, and a cell of 12 volts. Calculate current passing through 4 ohms resistor if:

(i) Resistors connected in parallel.

(ii) Resistors connected in series.

5 N





10 N





A





B





60cm
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